- portable receiver using four 1°5-volt cells (6 volts).
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Model TR814: Eight-transistor, three-waveband (M.W,
535—1605 kefs.; S.W.r 2-6 Mc/s.; S.W.z2 6-18 Mc/s.),
i i Ferrite-

A mixture of n—p-n and p—n—p
(X1, X2) 25A122/2T201 p—np; (X3,

rod and telescopic aerials.
transistors is used.

SW

ws
X

X4) 28C76/2T76 (n—p—n); (X5) 28D64/2T64 (n—p—n);
(X6) 25D65/2T65 (n—p-n); (X7, X8) 25Bs52/2T32 (p—n—p).
Diodes (D1) 1T23G; (D2) 1T23G. Transistor collector
currents: Xr 230-310 pA.; Xz 8oo—goo pA. (M.W.); X3
300—410 pA.; X4 750-950 pA.; X35 goo—1000 pA.; X6 27—
33 mA.; X7, X8 1'4-1°9 mA.
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| Zero signal current about 12 mA.
# Built in IFT

X To be adjusted



